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Solved Examples

(Momentum Equation)

Example 1

& 600mm diameter pipeline carries water under a head of 30m with a velocity of 3m/s. This water main is
~d -

fitted with a horizontal bend which turns the axis of the pipeline through 75° (i.e. the internal angle at the

bend is 105%). Calculate the resultant force on the bend and its angle to the horizontal.
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A 75mm diameter jet of water having a velocity of 25m/s strikes a flat plate, the normal of which is inclined
at 30%o the jet. Find the force normal to the surface of the plate.
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Exampley 3
The figure below shows a smooth curved vane attached to a rigid foundation. The jet of water, rectangular in

section, 75mm wide and 25mm thick, strike the vane with a velocity of 25m/s. Calculate the vertical and
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horizontal components of the force ZxZrftd on the vane and indicate in which direction these components
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